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Question 1: 

 

A box of tea bags is on special  

offer and contains 275 tea bags.  
 

This is 10% more tea bags  

than in a standard box. 
 

How many tea bags are  

in a standard box? 
 

APP 1∙3a Bronze Outcome 1 

 

 

 

  

Question 2: 

 

Write the following in it’s simplest index 

form. 

 
 

E+F 1∙1b Silver Outcome 1 

 

Question 3: 
 

Multiply out the following brackets and 

collect like terms; 
 

(6𝑥 − 5)(𝑥2 − 2𝑥 + 4) 
 

E+F 1∙2a Gold Outcome 3 

 

Question 4: 

 

Solve algebraically the system of 

equations; 

 
 

 

 

REL 1∙1d Gold Outcome 1 

 

Question 5: 

 

Find the equation of the line joining the 

points (2, 3) and (5, -9). 

 

Give the equation in it’s simplest form. 
 

REL 1∙1a Silver Outcome 2 

 

 

My score: 
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Exam Questions  
Question 1: 
 

 
 

APP 1∙3b Gold Outcome 2 

 

 
 

Question 2: 
 

 

E+F 1∙4b Silver Outcome 1 

 

Question 3: 
 

 
 

REL 1∙4a Bronze Outcome 1 

 

Question 4: 

 

REL 1∙4b Gold Outcome 1 

 

Question 5: 
 

 

APP 1∙1 Gold Outcome 3 

 

 

My score: 
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